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Calculus Test: 2.1 to 3.3. No Calculator

Name Favorite Coin

Part I: Multiple Choice—Put the Capital Letter in the blank to the left of each number.

4

D 1. What is the absolute maximum of the function f(x)= %x —§x3 +2 on the interval [1,3]?

@2 ®3  (© % (D)g

2. Given f(x):x3 —3x?+2x—7 and f(g(x))=x=g(f(x)), whatis g’(1(3))?
1 1
(A) 11 (B) 11 ©) 1 (D) -11

3. If &9 =3, what is & at x=1?
dx

(A) 1 (B) 1-1n3 (C) In3-1 (D) In3
In3



D

4. Given the function f (x) =x? +4x—1 , for which of the following values of ¢ on the open interval

(0,5) will the conclusion for the Mean Value Theorem be satisfied for the function f'(x)?

9 5
(A) 5 (B) 4 ©)1 & -

Q 5. What are the open interval(s) for which the function f (x) = §x3 —6x> —36x+7 is increasing?

3 3 3
(A)(—EJJ (B) (—=,3)  (C) [‘“’gju(l‘”) (D) (_E’m)

dcos? (x+n)+3sin(x+4) |—| 4cos* x+3sinx
1o (oot (eem)e3sinGren) || }

h—0 h
(A) 16cos> xsin x+3cos x (B) —4cos> xsin x +3¢os x
©) —16cos> x +3cos x (D) —16cos> xsinx+3cosx

C

@,

7. For x2y+secy =&, what is
dx

2
x -2 —2
(A) —2xy(x2 sec y tan y) B —2Y— (© 5 ald (D) — 2
sec ytany X~ +secytany x“ —secytany



2
/A\ 8. i{tan_l(ex H:
dx
2 2 2
2xe” 4xe” 2x 2xe”
(A) 2 (B) ) © 22 (D) 2
1+e°* 1+¢e" 1+e°* l+e

C 9. If f(x)zlogf‘/(?»x+5)3 , whatis f”(x)?

-3 1 9 3
A)—F+— B —— ©O-——"— DO)—"—
() 4(3x+5)In10 ® (3x+5)In10 4(3x+5)In10 ®) 4(3x+5)In10

~ 10 If y=(1+x2)x, then Y _

dx
@ (1+x2)"[12x22 +1n(1+x2)] @ 2x(122)
+x
©) lix; +1n(1+x2) (D) (1+x2 )x[1+1x2 +ln(1+x2)}



Part II: Free Response—Show all work in a clear, concise, cogent, an complete manner

2¢ -4, x<0
H et f(x):{—Z—Zsinx x20

(o R\B)

(a) Show that f is differentiable at x=0. 5 %
( -Le
ConbinoouS L= e @
z 'P{%>=2€/'L};—L coSY¥,
iio £ =—9 -2sn0=-2 L—‘F}\()'—-?_ce:'z
)(—70
4\5()— -2esD="2
1~
(Som 22\ D
Fis A Ffecerhable @ x/_l@
(b) Rolle’s Theorem applies to f(x) on the interval [a, 377[} If a <0, find the value of a.
f@y= £ (D)
<« =
2&%d=2-2snZ
lJetd= -2 - 2 -0
Ze,— _i = -2 +L
c'“=2
fm(c’") Q,Aa\

&=
Ine =10
-X= &\D
X=-40
X= undelined
(ho ﬁ:[u—l—io»}

(c) Find the value(s) of ¢ guaranteed by Rolle’s Theorem on the interval

)= O frsome c€ <—ﬁ42)?§_£‘>

[a, 3771 Justify.

- . ,
SJ//LJM\ZF -2 =0 on (‘,@«210\) or n (o 7_§
- fo)

sy = ©

5
ha




